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1. Apple Valley Corporation uses a job cost system and has two production departments, A and B.
Budgeted manufacturing costs for the year are:
Department A Department B

Direct materials $700,000 $100,000
Direct manufacturing labor $200,000 $800,000
Manufacturing overhead $600,000 $400,000

The actual material and labor costs charged to Job #432 were as follows:

Total

Direct materials: $25,000
Direct labor:

Department A $ 8,000

Department B $12.000

$20,000

Apple Valley applies manufacturing overhead costs to jobs on the basis of direct manufacturing
labor cost using departmental rates determined at the beginning of the year. Manufacturing costs
estimated for Job #432 total:

A. $55,000
B. $65,000
C. $§70,000
D. $75,000

2. Thornton Company has invested $2,000,000 in a plant to make commercial juicer machines. The
target operating income desired from the plant is $360,000 annually. The company plans annual
sales of 7,000 juicer machines at a selling price of $400 each. What is the markup percentage as a

percentage of cost for Thornton Company?

A. 22.0%
B. 18.0%
C. 14.8%
D. 12.9%

3. Most of a product's life-cycle costs are locked in by decisions made during the
business function of the value chain.
A. design
B. manufacturing
C. customer-service
D. marketing
4. Stiller Corporation incurred fixed manufacturing costs of $12,000 during 2011. Other

information for 2011 includes:
The budgeted denominator level is 2,000 units.
Units produced total 1,500 units.
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Units sold total 1,200 units.

Beginning inventory was zero.
The company uses absorption costing and the fixed manufacturing cost rate is based on the
budgeted denominator level. Manufacturing variances are closed to cost of goods sold. The

production-volume variance is:

A. $4,000
B. $3,000
C. $4,800
D. 0

(Continuation to above the question) Operating income using absorption costing will be
than operating income if using variable costing.

$4,800 higher
$4,800 lower
$1,800 higher
D. $1,800 lower
Black Forrest manufactures rustic furniture. The cost accounting system estimates manufacturing
costs to be $180 per table, consisting of 80% variable costs and 20% fixed costs. The company
has surplus capacity available. It is Back Forrest's policy to add a 50% markup to full costs.
Black Forrest is invited to bid on a one-time-only special order to supply 100 rustic tables. What
is the lowest price Black Forrest should bid on this special order?

o wp

A. §$12,600
B. $14,400
C. $18,000
D. $23,000

7. The Gangwere Company has assembled the following data pertaining to certain costs that cannot

be easily identified as either fixed or variable. Gangwere Company has heard about a method of
measuring cost functions called the high-low method and has decided to use it in this situation.

Month Cost Hours
January $40,000 3,500
February 24,400 2,000
March 31,280 2,450
April 36,400 3,000
May 44,160 3.900
June 42,400 3,740

What is the estimated total cost at an operating level of 2,850 hours?

A. $25,692

B. $33,240

C. $32,016

D. $34,736

. The Wood Furniture company produces a specialty wood furniture product, and has the

following information available concerning its inventory items: - -
ﬂ;
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Relevant ordering costs per purchase order  $300
Relevant carrying costs per year:
Required annual return on investment 10%
Required other costs per year $2.80

Annual demand is 20,000 packages per year. The purchase price per package is $32. What are
the relevant total costs at the economic order quantity?
A. $1,414.2]

B. $4,242.65
C. $8,48528
D. $9,000.00

9. The seller of Product A has no idle capacity and can sell all it can produce at $60 per unit.
Incremental cost is $12. What is the opportunity cost, assuming the seller sells internally?

A. §12
B. $48
C. $60
D. $72

10. The following information relates to Ray Corporation for the past accounting period.

Service Department Direct Costs
B veredlen R $80,000
S S 60,000

Producing Department
Cirnnnine 15,000
B . csiconionsasins 20,000

B v 10%
Gy 60%
D L S 30%

A .vrennns 30%
i antns 20%
1B e 50%

Using the simultaneous solution method, department A's cost allocated to department C is

A. $48,000
B. $58,800
C. $60,619
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1. Greene Manufacturing incurred the following expenses during 2011:
Fixed manufacturing costs $45,000
Fixed nonmanufacturing costs $35,000
Unit selling price $100
Total unit cost $40
Variable manufacturing cost rate $20
Units produced 1,340 units
What will be the breakeven point if variable costing is used? _ (1) What will be
the breakeven point in units if absorption costing is used? (2)

2. Casey Corporation produces a special line of basketball hoops. Casey Corporation produces the
hoops in batches. To manufacture a batch of the basketball hoops, Casey Corporation must set up
the machines and molds. Setup costs are batch-level costs because they are associated with
batches rather than individual units of products. A separate Setup Department is responsible for
setting up machines and molds for different styles of basketball hoops. Setup overhead costs
consist of some costs that are variable and some costs that are fixed with respect to the number of
setup-hours. The following information pertains to January 2005.

Static-budget  Actual
Amounts Amounts

Basketball hoops produced and sold 30,000 28,000

Batch size (number of units per batch) 200 250

Setup-hours per batch 5 4

Variable overhead cost per setup hour $10 $9

Total fixed setup overhead costs $22.500 $21,000

Required:
a. Calculate the efficiency variance for variable setup overhead costs. 3)
b.Calculate the flexible-budget variance for variable setup overhead costs. (4)
c.Calculate the production-volume variance for fixed setup overhead costs. (5)

3. The following information pertains to Hepburn Company:
Month Sales Purchases

January $60,000 $32,000
February $80,000 $40,000
March $100,000 $56,000

® Cash is collected from customers in the following manner:
Month of sale 30%
Month following the sale 70% AR ‘“I iF IJJ I
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@ 40% of purchases are paid for in cash in the month of purchase, and the balance is paid the
following month.
@ Labor costs are 20% of sales. Other operating costs are $30,000 per month (including
$8,000 of depreciation). Both of these are paid in the month incurred.
® The cash balance on March 1 is $8,000. A minimum cash balance of $6,000 is required at
the end of the month. Money can be borrowed in multiples of $1,000.

What is the ending cash balance for March? (6)

4. Beattie Company completed and transferred out 2,300 units in May 2008. There were 200 units
in the Work-in-Process Inventory on May 31, 2008, 30% complete as to conversion costs and
100% complete as to materials. The month's charges for conversion costs and material costs
were $9,440 and $6,250, respectively. There was no beginning inventory on May 01, 2008.
What is the cost of the work transferred-out during May? (7)

5. The Alpha Beta Corporation disposes a capital asset with an original cost of $170,000 and
accumulated depreciation of $109,000 for $50,000. Alpha betas tax rate is 40%. Calculate the
after-tax cash inflow from the disposal of the capital asset. (8)

= ~ Blaine Company produces two products, Nifty and So-So, and uses a costing system in which
all overhead is accumulated in a single cost pool and allocated based on machine hours.

Blaine's management has decided to implement ABC because a cost study has revealed
The

number of setups and the number of design hours will be the activity drivers for the two new

significant amounts of overhead cost related to setup activity and design activity.

cost pools, and machine hours will continue as the base for allocating the remaining overhead.
Selected information follows for Blaine Company's most recent year of operations:

Nifty So-So Total
Units produced .......ccceeeeeireiiemiiiiieiniieeensiisssiecsnnns 500 15,500 16,000
Direct material cost:
POL UIME et cssansavionsssussnssas sosarinshbnkiuns’s kAR ARISA SRS RERERISS $200 $20
s 77 OO DN (8 o B $100,000 $310,000 $410,000
NACHIIE PO L it iiiiistssniisinbinansaavesvabasestanasssinamnss 3,000 47,000 50,000
DAreCt IABORICOBE ... ocsviismssrssesscessrivssnssssssssssssnntanenes $50,000 $350,000  $400,000
o8 130 TSNS i o NS 120 80 200
DEARRBOUNS o iiciciviiamissvisvesicinimbismpsivesionvovsiisgosss 6,000 4,000 10,000
Overhead:
SEUDDEIALOA .ioiiniississiausivioisimnioressvassaissssiavisvisisnsts $250,000
DesSIpNetBIRIBd ... s icvisissiunsnassinsissshskrsisorsasvaviorisonvass 350,000 i
3357 vl o RS MRS AN L, S SUUICL S S s 900,000 )

$1,500,000




$01% K% 103 % 5 B o S0 AT AR L HE48 A& A3
B,

(

Al

Ll

LE#bAE) (RAXEREL) VT4 A st E# AR TR E %

Required: (10% )
Calculate the total and per-unit costs reported for the two products by the ABC system.

m ~ The Home Office Company makes all types of office desks. The Computer Desk Division is
currently producing 10,000 desks per year with a capacity of 15,000. The variable costs
assigned to each desk are $300 and annual fixed costs of the division are $900,000. The

computer desk sells for $400.

The Executive Division wants to buy 5,000 desks at $280 for its custom office design business.
The Computer Desk manager refused the order because the price is below variable cost. The
executive manager argues that the order should be accepted because it will lower the fixed
cost per desk from $90 to $60 and will take the division to its capacity, thereby causing

operations to be at their most efficient level.

Required: (10%)
From the perspective of the Computer Desk Division and the company, should the order be
accepted if the Executive Division plans on selling the desks in the outside market for $420 after

incurring additional costs of $100 per desk? Why?

% -~ Calamata Corporation processes a single material into three separate products A, B, and C.
During September, the joint costs of processing were $300,000. Production and sales value

information for the month were as follows:

Product Units Produced Final Sales Value per Unit Separable Costs
A 10,000 $25 $125,000
B 15,000 30 250,000
L 12,500 24 125,000

Required: (10% )
Determine the amount of joint cost allocated to each product if the constant gross-margin

percentage NRV method is used.
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